EARAROBEEIERT — 2 N— IBISH —F

201782811 (£) 1HERSH

m7’l’—‘/C G3 #7%3m (EE) % (48 AT ‘[fﬂi] w ‘[%iﬂ%lﬂsﬁl] — = @ 16000 &
[A&4] 1 % :35,000,000 § . 2 7% :14,000,000 9§ 3 7 :8,800,000 4 #% :5,300,000 @ ~ 5 & :3,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. - . C. LAx—J :33. — . . REEX (BR)
1l8l1s TRYLYIVE 4 3 b 1((53)2 8-6 33.6 | 98.4 1 (4520) i&%ﬂ—
RN=YI54 BiLT(AF Y- J—H T — L
3 | tallgas, 1:33.3 6-3 33.9| 97.2 | 5 486 | FREEE (i)
7IAYy b & 54.0 (1/2) ) | @ FrF-L-—v>y
L:va7x B:T7AXTYv IR J =Y Tr—L
S 4% 3 | FIBEK 1:33.6 8-6 34.1|93.9 | 2 456 | AATEH (EE)
JO-LA%T vy 54.0 ® g | B $rF-L—sry
L:FA—TANT b BRT IR =L J—HrTr—L
s R : - AHE (FEX)
L—X3I /I 4 3 oy 1(.13/32.)7 1-1 346 91.1 | 3 (4&38) i
RFATAT v — BAAIILT I 797577 — LI
. 3 | GikiE 1:33.8 11-10  [34.0| 91.8 | 4 420 | EET (EH)
NFLAh—> % 54.0 (5¥) o |EFEAF-AF (272 ()
RFa—TALNT N BiNYFY HET7— L
S 4 3 | SEAA 1:34.2 14-11 34.3| 87.3 | 15 | 432 |HR#E (EiH)
6|8(16/ /Y74 —4 54.0 (2 1/2) © (B) EvJLy RI77—L
L:wy)gdyr B:vAxT7INTa—Ib EvJiLy RT77—L4L
S 45 4 3 | KEFHRIR 1:34.3 4-3 35.0 | 83.8 | 11 474 | REEIETE ()
77|13 AXH¢E 54.0 (179) o | W) EgHTy-s-x -2z
R:F1+—-7TTVI7 B:NLPY—I v
. =EE : , AL (£8)
8 1| TV LS it 3 Bl (12314/27) 12-11 [ 34.8| 815 | 7 ;1:342) b
Z:7A7x B:YALCRTT HEKEHRS
B 3 | LEEE 1:34.7 12-14 | 34.6| 82.0 | 9 464 | ERIERE (3E7H)
ol1]1| F=Fw7rL2 8.0 AN o |EEDE )
LN—=YT754 B:h—KIKLFI me #FA
N EFREA :35. - . . FIRREE (5
1w0lslo|®@Y 1 —F270- it 3 s (11 355/40) 16-16 | 34.6 | 78.9 | 13 (4+178) ;m&a%
348 B R/IS— R mN77—L4
I, 4 3 | BOAIEM 1:35.1 3-3 35.8| 75.0 | 12 462 | FAEEFME ()
111112 TIVIa—FT> .0 (1/2) (-6) REHEA
R:ZyY—b—0O— B:F7E-7F Yy v LS
5 s 3 | IHEES 1:35.1 15-14 | 34.9| 77.6 | 8 418 | HIIEZE (i)
12 4 av/Lo—7+ 54.0 (74%) (+4) E&IIIFEE
L:RY—LYy—=— B:OAX/F37 Gl e
= oy . “ 3 | AEEE 1:35.3 7-6 35.7| 729 | 6 446 | BRE (W)
13 7|7 ATTANTY " 54.0 (1 1/4) (-19) |, B HAL—ZH-2
LN=VT754 BRNT4NTY HET77— L4
xS 4 3 | ALHEF 1:36.0 2-2 36.8| 67.5 | 10 | 476 |tEEM (EH)
1417114 AU FXITEYH 54.0 (4) (44) | BT
L—=FHI59L BF-LYELTF Bk 1405
= 0 4 3 | ERE— 1:36.6 8-11 36.6| 61.4 | 16 | 480 |ERIFK (=)
EH 5| YT ERTAY 54.0 3 1/2) (1) | BB
R:bh—€>77> AL B:b—t>IXxO BREHM IXF1T77—L4
g S = s 3 | REMC 1:37.4 5-6 37.8| 56.3 | 14 | 440 |HAIEE (i)
16/ 5|10| RAH T Z7—7T 54.0 (5) (-q) | KR
LY RG 4 GFR B T—FFAT DAY ¢
@ 71 L
) 46.4-34.1
NA>ZA4 L | 12.3-11.1-11.4-12.0-12.3-11.3-11.2-11.6
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 8-14,2,13,10,11,7(5,6,15)3(1,12)-16,4,9
40—+ — (x8,14) (2,13,11) (10,6,7,15)3(5,16,12) (1,4)9
[ N3
B O 15 290M 714K 11-15 410 e E 6-8 1,050 JEHE 6-11-15 1,170H
8 B 15 120 6-15 180M B = 11-15 1,330/ B 15-11-6 6,820
1" 1704 6-11 410 B H 15-11 2,130M
6 120/

ABICOVWTRDTEEERROODE. TR LIV,




